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01 =LHOHI 5,700 5,700
SENL LI 204
10,0002 =3 *100& 3,000
OsTHLERFE 2204H|
30,0003 38 30! 2,700
401 Al HIZL 01| 740,000 240,000 500,000
01 Al&H| 735,104 238,704 496,400
OsEXNSNEAIES2e
178,704,000 *14] 178,704
OSEXNGNLAIY SEAIY TAF B9
20,000, 000& *34 = OF 60,000
Oogd EFcl II=SSHH gAY
496,400,000 x14] 496,400
03 Al 2 CHHI 4,8% 1,296 3,600
SEXNSHE AL S 2
180,000, 0002 *0.72% 1,29%
Oge S5l MiessHH gAY
500,000,000&+0.72% 3,600
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M SEMEEARY)

ol SEXGHE (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
S8 I ZHENEIEAY 877,000 1,102,000 A225,000

= 613,000
[ia 264,000
403 AXIEHMSAH=0lH 877,000 1,102,000 A225,000
= 613,000
[Ea 264,000
02 S712S0 U H=E P E AL 877,000 1,102,000 A225,000
0= JIZMBNESH(ZD)
877,000,000 *14] 877,000
[ 613,000
T 264,000
UXIH JI=dHENEXEAS 1,367,000 591,000 776,000
= 957,000
= 410,000
403 MR HHMSAH=01H 1,367,000 591,000 776,000
= 957,000
Ea 410,000
02 S712S0 e MH=E P E AL 1,367,000 591,000 776,000
ORI ZMSNE XL (2
1,367,000,000& *14] 1,367,000
[ 957,000
ia 410,000
SE MEH SHAAMY 120,074 2,208,391 2,088,317
101 @124H| 120,074 108,391 11,683
M ORIMZZ2NSE S 120,074 108,391 11,683
OsE tEHEAAMNY 23 120,074
ooy 2,800,000 <3+ 122 100,800
Og&E=Itd| 200,000& 3 #22] 1,200
O=gl 100,000& x3&* 123 3,600
o4tiEg= 105,612,000 *12% 12,674
(@011 50,0002 3 * 12 1,800
FUE sESHNdAY 3,215,000 1,170,000 2,045,000
[ 2,251,000
= 289,000
= 675,000
403 AXIEHMSAH=0l 3,215,000 0 3,215,000
= 2,251,000
< 289,000
= 675,000
02 S 2SS0t et =& 2 €A HI 3,215,000 0 3,215,000
OFLE sESNSEH(EZ)
3,215,000,000& *14] 3,215,000
= 2,251,000
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Rl SEXSNY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 289,000
s 675,000
=9 I zdEANETEMNY 722,000 311,000 411,000
= 506,000
Ea 216,000
403 MR HSAHE01H 722,000 0 722,000
[ 506,000
s 216,000
02 S7I2S0 U H=E 2 E AL 722,000 0 722,000
O3 I ZMEHEZH (L)
722,000,000& *14] 722,000
= 506,000
= 216,000
g Iz NS LG 762,000 311,000 451,000
= 534,000
Ea 228,000
403 MR HHSAHE01H 762,000 0 762,000
[ 534,000
o 228,000
02 SVI2S0 U H=E S AL 762,000 0 762,000
OLYR I ZMENETL (L)
762,000,000 *x14] 762,000
= 534,000
T 228,000
stedd D ZdENET LMY 741,000 311,000 430,000
= 519,000
[Ea 222,000
403 MR HHMSAHE01H 741,000 0 741,000
[ 519,000
o 222,000
02 S7I2S0 e H=E 2 E AL 741,000 0 741,000
O3gd JIZYENZE XL (ZT)
741,000,000 *14] 741,000
[ 519,000
Ea 222,000
HISH JIZ8ENE LA 837,000 311,000 526,000
= 586,000
o 251,000
403 AXIEHMSAH=0ld 837,000 0 837,000
= 586,000
o 251,000
02 SISOt =2 A 2 E A I 837,000 0 837,000
OHlSH JIZYENE XL (ZZ)
837,000,000 *14] 837,000
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M SEMEEARY)
Rl SEXSNY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 586,000
s 251,000
A2l d BSH S3HEX ZdAHY 4,200,000 1,300,000 2,900,000
= 2,500,000
Ea 1,700,000
403 MR HSAHE01H 4,200,000 1,300,000 2,900,000
=S 2,500,000
s 1,700,000
02 S7I2S0 U H=E 2 E AL 4,200,000 1,300,000 2,900,000
OMBIRTSH SEHEX ZTHAY
4,200,000,000& * 14 4,200,000
< 2,500,000
= 1,700,000
OIEIX = FUYXNS HEHA HEAY 599,000 599,000 0
= 437,000
[ 50,000
T 112,000
403 TR SMSAH=01H 599,000 599,000 0
s 437,000
== 50,000
o 112,000
02 SO 2SS0t et = & 2 € AL | 599,000 599,000 0
OSE FHXI MBI HEAR (DI
)(Z=) 599,000,000 x14] 599,000
s 437,000
s 50,000
s 112,000
SIAXIF FHAXS HEOAH HEAS 478,000 478,000 0
= 360,000
=S 35,000
s 83,000
403 AXIEHMSAH=201H 478,000 478,000 0
[ 360,000
= 35,000
[Ea 83,000
02 SISOt =2 H P E A I 478,000 478,000 0
SE FHANS HSHA HEALS (SR
2N(EZ) 478,000,000 *14] 478,000
[ 360,000
= 35,000
Ea 83,000
QI 7 FHANS dH2H A 578,000 0 578,000
[ 429,000
= 45,000
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Rl SEXSNY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 104,000
403 MR HMSAHE01H 578,000 0 578,000
[ 429,000
= 45,000
= 104,000
02 SIS0t =2 2 P E A I 578,000 0 578,000
OSE FAXNS S0 HEAH (UL
NEZ) 578,000,000 x 14 578,000
[ 429,000
= 45,000
= 104,000
0228 sES2HEHIAY 850,000 0 850,000
= 425,000
= 127,500
= 297,500
403 MR SHHMSAH=01H 850,000 0 850,000
= 425,000
< 127,500
T 297,500
02 SIS0t =S A A 850,000 0 850,000
OHUXT SEDAFHIAY
850,000,000 x 14 850,000
= 425,000
< 127,500
[Ea 297,500
sE2 gdal 459,545 520,790 N61,245
= 91,336
= 34,774
= 333,435
sEAAonet A5 263,7% 325,040 N61,245
= 91,336
< 28,774
= 143,685
sEMES20IE AR &3Hl X 160,080 205,380 /45,300
= 82,800
== 23,920
o 53,360
307 212+01& 160,080 205,380 45,300
= 82,800
S 23,920
o 53,360
02 QB AANEE R 160,080 205,380 45,300
OsZEMgs20ls M2 &sHl XY
160,080,000 * 14! 160,080
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sSESSHL
sE=&d 243l
SOE MEg2d dAxd (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsE&Hs JIZEMAA 25
1,000,000 122 12,000
= 6,000
Ea 6,000
SEEHESA 261,600 765,600 504,000
By |4 131,600 143,600 212,000
IS4 29 91,600 90,600 1,000
201 er23| 6,600 6,600 0
01 At2teltl 3,600 3,600 0
O=EZAAD APEE|
300,000 x 12 3,600
02 S3=gHl 3,000 3,000 0
OsZEHE Xtgal
250,000 * 128 3,000
202 04| 9,000 9,000
01 =LHO LI 9,000 9,000
OSEHAADEN SO
50,0003 x4 45 9,000
401 Al HIZ S 0HbI 76,000 55,000 21,000
01 Al&H| 76,000 55,000 21,000
SOSIIBHE Al 22
76,000,000 *14] 76,000
472 HACCP 1 =5 XI& 20,000 0 20,000
402 2I2FXH=201H 20,000 20,000
01 IR SASE X (XHMITHR) 20,000 20,000
OA+2 HACP 215 =% XI&
10,000,000 *4IH 2=*50% 20,000
TS JISH ADHSE S A X2 20,000 20,000
307 elztol & 20,000 20,000
02 2B YAIHE £ 20,000 20,000
OFC==d IS NHIISEB A K&
2,000,000 *207H 2= %50f% 20,000
A =54 130,000 622,000 492,000
DN sESSEXNAEGAE 130,000 600,000 470,000
401 Al HIZ R0 130,000 200,000 70,000
01 Al&HI 130,000 200,000 A70,000
OTIIAt &KX RSHE JIHEH 2=
40,000,000 +3CH 120,000
O A RSHE AE 22
10,000,000 » 14 10,000
HH2LIH(SE3SHY) 61,240 61,240 0
=&4| 61,240 61,240 0
JI=23Hl 61,240 61,240 0
201 2egh=3| 40,720 40,720 0




AN sESSHL
M HHRALH|(SE2SHL)
&elr D=3l (Ete &
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
01 At2t2ltl 39,520 39,520 0
oget=ZH| 25,920
O2NEg+3Hl 1,000,0002 * 12& 12,000
OAIREESHI 330,000 x12& »23] 7,920
Otz s 7t 500,000 x19+123] 6,000
o=gHl 8,000 17100 13,600
02 S3=24l 1,200 1,200 0
CEENTR-TEV=RS
1,200&*1,0002! &4 1,200
202 04| 16,320 16,320
01 2K 16,320 16,320
O=U08I 80,0002 x17& 128 16,320
203 SR =L 4,200 4,200
M EASHLRFAH 4,200 4,200
ORNESgER=AHI 350,000+ 122 4,200
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